STEERING & SUSPENSION PARTS

B

;J.'B'f"

W TR
4

1 e
el il

47 4l

fjuo sasodind uonELWIOJUI 10j PAsSN € JUSLUNJOP SIY] Ul papn|oul ejep pue siaquinu jied ‘suondussap jonpoid ||y
“JIpi|5ELWIE 1B]ig 829pES 13[11aA aA LIB|BIBLUNU BIlEd ‘IIBjBLWUE)YISE UNIN WD) IEPUBLUNYOP NG X

SINALI M3N



-
{5 TXNOROT

TEKNOROT REF: A-10082
Suspension Control Arm

.'.w. e& g

J

Weight: 1436  Length: 3693
MODEL NO BODY CODE
05 FY
COMPONENTS NUMBER
? SB 1134
SB 655

TEKNOROT REF: A-10092

Suspension Control Arm
= o . £
q-"ﬁel = z@
Weight: 1436  Length: 3693
MODEL NO BODY CODE
05 Fy
COMPONENTS NUMBER
<@ SB 1134
SB 655

YEAR

2017-

NAME

Control Arm
Bushing

Control Arm
Bushing

YEAR

2017-

NAME

Control Arm
Bushing

Control Arm
Bushing

20 JUNE

ADAPTABLEFOR ALJ/

DIRECTIONS

Front Right
Lower Forward

DIRECTIONS

Front Lower

Lower Center

OEMNO

80A407152A

OEMNO

4AMOA407151H%, AMOA407152H*

4E0407181B

ADAPTABLEFOR ALJ/

DIRECTIONS

Front Left Lower
Forward

DIRECTIONS

Front Lower

Lower Center

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

80A407151A

OEMNO

AMOA407151H%, 4AMO407152H*

4E0407181B



TEKNOROT REF. F-1013K ADAPTABLEFOR JYECD
Steering Tie Rod Hit

e /

T

Weight: 0937  Length: 3315  Bolt Metric: MI6X1.5  Housing Metric: M18X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
DAILY VI 2014- Front 42569566
TEKNOROT REF: JA-1003 ADAPTABLEFOR JAGUAR
Steering Tie Rod

o

Weight: 0,524  Length: 205  Bolt Metric. M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XF X260 2016- Front T2H32619

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

K) STEERING 6§ SUSPENSION PARTS U'/UNE

TEKNOROT REF: JA-1003 ADAPTABLEFOR JAGUAR
Steering Tie Rod

o

Weight: 0524  Length: 205  Bolt Metric: M14X15  Housing Metric.: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
XE X760 2015- Front T2H32619
TEKNOROT REF: M-1041 ADAPTABLEFOR MERCEDES
Steering Tie Rod End

&
N

~

Tt

Weight: 0781  Length: 222  Bolt Metric. M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

A-CLASS 2018- Front Right A1773308400

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS U'/UNE

TEKNOROT REF: M-1042 ADAPTABLEFOR MERCEDES

Steering Tie Rod End
l.. - = L = k =

Weight: 0761  Length: 222  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS ODEMNO
A-CLASS 2018- Front Left A1773308500
TEKNOROT REF: M-751853 ADAPTABLEFOR MERCEDES

Steering Tie Rod Assembly

7

Weight: 1179  Length: 3775  Bolt Metric: M14X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
, 2033302003, 2033302403,
CLKH-CLASS A209,0209 2002-2009 Front Right 2903580715
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
"' M-751 Tie Rod End | Front Right Outer 2033302003, 2033302403
M-753

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS U'/UNE

TEKNOROT REF: M-751853 ADAPTABLEFOR MERCEDES
Steering Tie Rod Assembly

7

Weight: 1179  Length. 3775  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. 2033302003, 2033302403,
SLK-CLASS R171 2004-2011 Front Right 2903580715
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
"' M-751 Tie Rod End | Front Right Outer 20333020035, 2033302403
M-753
TEKNOROT REF. M-751853 ADAPTABLEFOR MERCEDES

Steering Tie Rod Assembly

7

Weight: 1179  Length: 3775  Bolt Metric: M14X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
, 2033302003, 2033302403,
C-CLASS w203 2000-2007 Front Right 2903380715
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
"' M-751 Tie Rod End Front Right Outer 2033302003, 2033302403
M-753

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-752853
Steering Tie Rod Assembly

Weight: 1179  Length. 3775  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS
CLK-CLASS A209,0209 2002-2009 Front Left
COMPONENTS NUMBER NAME DIRECTIONS
i M-752 Tie Rod End Front Left Outer
M-753

TEKNOROT REF: M-752853
Steering Tie Rod Assembly

Weight: 1179  Length. 3775  Bolt Metric: M14X1.5  Housing Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS
SLH-CLASS R171 2004-2011 Front Left
COMPONENTS NUMBER NAME DIRECTIONS
i M-752 Tie Rod End Front Left Outer
M-753

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

|
) JUNE

ADAPTABLEFOR MERGCEDES

OEMNO

2033301903, 2035302308,
2203380715

OEMNO

2033301903, 2033502503

ADAPTABLEFOR MIERCEDES

OEMNO

2033301903, 2033302503,
2208380715

OEMNO

2035501903, 2033302503



{5 T&’\NOROT

TEKNOROT REF: M-752853 ADAPTABLEFOR MERCELES
Steering Tie Rod Assembly

L3

:

Weight: 1179  Length. 3775  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

2033501803, 2033502503,
C-CLASS w203 2000-2007 Front Left 2203580715

COMPONENTS NUMBER NAME DIRECTIONS OEM NO

.'ﬁ M-752 Tie Rod End Front Left Outer 2033301903, 2033302503
M-753
TEKNOROT REF. 0-1028 ADAPTABLEFOR (JPEL
Lateral Arm

S

Weight: 3338  Length: 3855

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

INSIGNIA 1stGen 2008-2017  Rear Right Upper 133818345, 423071, 423043

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. 0-1029 ADAPTABLEFOR (JPEL
Lateral Arm

Weight: 3338  Length: 3655

OEMNO

MODEL NO BODY CODE YEAR DIRECTIONS

INSIGNIA 1stGen 2008-2017  Rear Left Upper 13318344, 4250783, 425042

ADAPTABLEFOR /0L VO

TEKNOROT REF. VO-836
Suspension Stabilizer Bar Link

T

Weight: 0362  Length.: 167  Bolt Metric. M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

S60 3rd Gen 2019- Front 31658287

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



~\ TXNOROT

(A TE |
\‘ STEERING 6 SUSPENSION PARTS i

TEKNOROT REF: VO-837 ADAPTABLEFOR /L VO
Suspension Stabilizer Bar Link

I

Weight: 0362  Length: 167  Bolt Metric: M12X1,75

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
S60 3rd Gen 2019- Front 31658286
TEKNOROT REF. VO-883 ADAPTABLEFOR /0L VO
Steering Tie Rod TRW STEERING GEAR

LA -\—‘\

3 £y
%, A

Weight: 044  Length: 227  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

Vvao 1996-1998 Front 9140788

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF. VO-883 ADAPTABLEFOR /0L VO
Steering Tie Rod TRW STEERING GEAR

Weight: 044  Length: 227  Bolt Metric: M14X2  Housing Metric.: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
960 1990-1998 Front 9140788
TEKNOROT REF. VO-883 ADAPTABLEFOR /0L VO
Steering Tie Rod TRW STEERING GEAR

Weight: 0,44  Length: 227  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

840 19580-1998 Front 9140788

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: V0-883 e YOLVO

.S'te;_’r /77__l_7 Tie Rod o TRW STEERING GEAR

Weight: 044  Length: 227  Bolt Metric: M14X2  Housing Metric.: M14X1,5

590 1996-1998 Front 9140788

TEKNOROT REF: H-1019 C wenaenn HONDA

Late_ra/ Arm

Weight: 1013 Length: 26

ACCORD Vil 2003-2008 Rear Lower 528505EA000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 11




A\ TXNOROT

K) STEERING 6§ SUSPENSION PARTS U'/UNE

TEKNOROT REF: LX-311 ADAPTABLEFOR | EXLJS
Steering Tie Rod End

-

g

Weight: 0632  Length: 165  Bolt Metric: M12X1,25 — Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LS400 F2 1994-2000  Front Right Outer £580290, 4546049025
TEKNOROT REF: LX-312 ADAPTABLEFOR | EXLJS
Steering Tie Rod End

:-.

K—

Weight: 0632  Length: 165  Bolt Metric: M12X1,25 — Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

L5400 F2 1994-2000  Front Left Outer ESB80291, 4547049015

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: MA-883
Steering Tie Rod

Weight: 0,559  Length: 227  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

2 DJ 2014- Front

TEKNOROT REF: MA-8948
Lateral Arm USA Market

Weight: 1912  Length: 3812

MODEL NO BODY CODE VEAR DIRECTIONS
3 BM 2014- Rear Right

COMPONENTS NUMBER NAME DIRECTIONS
‘x \4 5993 v %ﬁg M RearRight

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZ A

OEMNO

DOSH32240

ADAPTABLEFOR MIAZ A

OEMNO

B45A28200A, BACSZ28200A

OEMNO

B45A26200*



! a

TEKNOROT REF: MA-9489 ADAPTABLEFOR MAZDA
Lateral Arm USA Market

4
F
£

Weight: 1912  Length.: 3812

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3 BM 2014- Rear Left BJS7282504, BACS28250A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
t‘x \4 SB 993 control Arm Rear Right B45A28200*
o Bushing
TEKNOROT REF: N-1006 ADAPTABLEFOR NSSAN
Suspension Stabilizer Bar Link GR V WAGON
_‘ YEAR ONLY
- 1998-2001

T

Weight: 0,302  Length: 163  Bolt Metric: M12X1,25  Housing Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PATROL Y61 1998-2013 Front 54618VB000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT 2020JUNE

TEKNOROT REF: T-1027 ADAPTABLEFOR TOYOTA
Suspension Stabilizer Bar Link '

Weight: 0402  Length: 100  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TACOMA 2nd Gen 2005-2015 Rear 48830AD020
TEKNOROT REF: T-1043 ADAPTABLEFOR TOYOTA
steering Tie Rod PRE-RUNNER TYPE |

Weight: 075  Length: 269  Bolt Metric: M16X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TACOMA 2nd Gen 2005-2015 Front Inner 4550309480, 4550309520

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF. CD-236
Suspension Stabilizer Bar Link

zu JUNE

ADAPTABLEFOR CADILLAC

Weight: 0456  Length: 245  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
CT6 1stGen 2016- Front
TEKNOROT REF. FO-1144
Suspension Ball Joint RWDO MOOG TYPE
_?“‘"‘ g

-

Weight: 0611  Length: 1125  Bolt Metric: 3/4" 166 UNF RH
MODEL NO BOOY CODE YEAR
EXCURSION 2000-2005

DIRECTIONS

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

238403226, 22933408, 84009235

ADAPTABLEFOR [FORD

OEMNO

K800Z7



A\ TXNOROT

K) STEERING 6 SUSPENSION PARTS U'/UNE

TEKNOROT REF. FO-1144 ADAPTABLEFOR FOR[
Suspension Ball Joint RWD MOOG TYPE ;

h
——

>

Weight: 0811  Length: 1125  Bolt Metric: 3/4" 166G UNF RH

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 SUPER DUTY 1stGen 1999-2007 Front Lower K80027
TEKNOROT REF: FO-1144 ADATABLEFOR FOL)
Suspension Ball Joint BWD MOOG TYPE
F s R

—$h—

>

Weight: 0811 Length: 1125  Bolt Metric: 3/4" 166G UNF RH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-250 SUPER DUTY 2nd Gen 2008-2010 Front Lower K80027

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



=
o ENORaT

TEKNOROT REF. FO-1144
Suspension Ball Joint

Weight: 0811  Length: 1125 Bolt Metric: 5/4" 166 UNF RH
MODEL NO BOOY CODE
F-250 SUPER DUTY 3rd Gen

TEKNOROT REF: FO-1144
Suspension Ball Joint

Weight: 0811  Length: 1125  Bolt Metric: 3/4" 166G UNF RH
MODEL NO BOOY CODE
F-350 SUPER DUTY 1stGen

1999-2007

2020 JUNE

ADAPTABLEFOR FORD
RWD MOOG TYPE

YEAR DIRECTIONS OEMNO
2011-2016 Front Lower KB80027
ADAPTABLEFOR [FORD
RWD MOOG TYPE

OEMNO

YEAR DIRECTIONS

Front Lower KB0O027

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF. FO-1144 ADAPTABLEFOR FOR[

Suspension Ball Joint RWD MOOG TYPE

-

Weight: 0811  Length: 1125  Bolt Metric: 3/4" 166G UNF RH

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-350 SUPER DUTY 2nd Gen 2008-2010 Front Lower K80027
TEKNOROT REF: FO-1144 woAPTELEFR FORD
Suspension Ball Joint BWD MOOG TYPE v

-

Weight: 0811 Length: 1125  Bolt Metric: 3/4" 16G UNF RH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-350 SUPER DUTY 3rd Gen 2011-2016 Front Lower K80027

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF. FO-1197
Suspension Stabilizer Bar Link

O

.
Weight: 0433  Length: 2004  Bolt Metric: 3/8-16 UNC
MODEL NO BODY CODE YEAR DIRECTIONS

E-150 1975-1991 Front
TEKNOROT REF. FO-11897
Suspension Stabilizer Bar Link

.
Weight: 0433  Length: 2004  Bolt Metric: 3/8-16 UNC
MODEL NO BODY CODE YEAR DIRECTIONS
E-250 1975-1991 Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

20,08

ADAPTABLEFOR FORD

OEMNO

K8625, 71026158

ADAPTABLEFOR [FORD

OEMNO

K8625, 71028158



A\ TXNOROT

K) STEERING 6 SUSPENSION PARTS U'/UNE

TEKNOROT REF: FO-1187 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link

O

Weight: 0433  Length: 2004  Bolt Metric: 3/8-16 UNC

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
E-350 18975-1951 Front KB625, 71028158
TEKNOROT REF: FO-1206 sowemsEFoR FORD)

Suspension Stabilizer Bar Link

L —

Weight: 0558 Length: 231  Bolt Metric. 3/6-16 UNC

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

E-150 2005-2014 Rear KBOO15, EOTZ5K484A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

TEKNOROT REF. FO-1206 ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link

4
F
£

L —

Weight: 0,558  Length: 231  Bolt Metric: 3/8-16 UNC

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
E-250 2006-2014 Rear KB0015, EOTZ5K484A
TEKNOROT REF: FO-1206 sowemsEFoR FORD)

Suspension Stabilizer Bar Link

L —

Weight: 0,558 Length: 231  Bolt Metric. 3/8-16 UNC

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

E-350 1996- Rear KBOO15, EOTZ5K484A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF. FO-1206
Suspension Stabilizer Bar Link

L —

Weight: 0558  Length: 231  Bolt Metric: 3/8-16 UNC

MODEL NO BOOY CODE YEAR DIRECTIONS
E-450 1996- Rear
TEKNOROT REF: JE-3882
Suspension Control Arm

——

Weight: 0,981 Length: 36825

MODEL NO BODY CODE YEAR DIRECTIONS

CHEROKEE 2nd Gen, XJ 1984-2001 Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

KB0015, EOTZ5K484A

ADAPTABLEFOR _JEEP

OEMNO

CKB20244



A\ TXNOROT

K) STEERING 6 SUSPENSION PARTS U'/UNE

TEKNOROT REF: JE-3882 ADAPTABLEFOR JEEP
Suspension Control Arm S

——

Weight: 0981  Length: 3625

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GRAND CHEROKEE 1ZJ 1991-1999 Front Upper CKB20244

TEKNOROT REF. JE-3882 ADAPTABLEFOR _JEEP
Suspension Control Arm

——

Weight: 0981  Length: 3825

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

WRANGLER TJ 1996-2007 Front Upper CKB20244

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TKNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: 0-1028 ADAPTABLEFOR BUICH
Lateral Arm VEARONLY R

2010-2012

Weight: 3338  Length: 3655

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LACROSSE 2nd Gen 2010-2016  Rear Right Upper 13318344, 425073, 425042

TEKNOROT REF: 0-1028 ADAPTABLEFOR BUICH
Lateral Arm

Weight: 3338  Length: 3855

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

REGAL 5th Gen 2011-2016  Rear Right Upper 13318344, 423073, 423042

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TKNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: 0-1029 ADAPTABLEFOR BUICH
Lateral Arm VEARONLY R

2010-2012

Weight: 3338  Length: 3655

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LACROSSE 2nd Gen 2010-2016  Rear Left Upper 13318345, 425071, 423043
TEKNOROT REF: 0-1029 ADAPTABLEFOR BLIICH

Lateral Arm

C e o

Weight: 3338  Length: 3855

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

REGAL 5th Gen 2011-2016  Rear Left Upper 13318345, 423071, 423043

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: RA-104
Suspension Ball Joint

a9

2Hd

Weight: 0477  Length: 72

MODEL NO BODY CODE YEAR

PROMASTER CITY 2015-

TEKNOROT REF: RA-105
Suspension Ball Joint

298

Weight: 0477  Length: 72

MODEL NO BODY CODE YEAR

PROMASTER CITY 2015-

ADAPTABLEFOR RAM

DIRECTIONS

Front Right
Lower

OEMNO

682653225AA

ADAPTABLEFOR RAM

DIRECTIONS

Front Left Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

668263081AA




[ =
{» T&XNOROT

TEKNOROT REF. RA-106
Suspension Stabilizer Bar Link

4

Weight: 0628  Length: 147  Bolt Metric: M14X1,5

MODEL NO BODY CODE

2500

TEKNOROT REF. RA-106
Suspension Stabilizer Bar Link

&

N
. ,IH
Weight: 0628  Length.: 147  Bolt Metric. M14X1,5

MODEL NO BODY CODE

3500

20 JUNE

ADAPTABLEFOR RAM
4wD
YEAR ONLY
2011-2013
YEAR DIRECTIONS OEMNO
2011- Front 66020464A5
ADAPTABLEFOR RAM
4wWD
YEAR ONLY
2011-2013
YEAR DIRECTIONS OEMNO
2011- Front 68020464AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: RA-106 ADAPTABLEFOR RAM
Suspension Stabilizer Bar Link 4WD

\‘.a

e

Weight: 0628  Length: 147  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
4500 2011-2018 Front 6602046448
TEKNOROT REF. RA-106 ADAPTABLEFOR RAM
Suspension Stabilizer Bar Link 4AWD

\‘.a

A

Weight: 0628 Length: 147  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

5500 2011-2018 Front 68020464AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF. RA-116

Suspension Stabilizer Bar Link Steel Type
2 YEAR ONLY
, 2011-2012

Weight: 06538  Length: 149  Bolt Metric: M14X1,5  Housing Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

2500 2011- Front Right

TEKNOROT REF: RA-116

Suspension Stabilizer Bar Link Steel Type
2 YEAR ONLY
: 2011-2012

Weight: 0538  Length: 149  Bolt Metric: M14X15  Housing Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

3500 2011- Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR RAM

OEMNO

20 JUNE

68055439AA

ADAPTABLEFOR RAM

OEMNO

668055439AA



TEKNOROT REF. RA-117 ADAPTABLEFOR RAM
Suspension Stabilizer Bar Link Steel Type

YEAR ONLY
£ 2013-

Weight: 0604  Length: 1375  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
2500 2011- Front Left 6620500944
TEKNOROT KEF: RA-117 ADAPTABLE FOR RAM
Suspension Stabilizer Bar Link Steel Type
© YEAR ONLY
-- 2014-

Weight: 0,604  Length: 1375  Bolt Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

3500 2011- Front Left 668205009AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: TS-1082  wewssr JESLA

Suspension Control Arm and for 4x4
Ball Joint Assembly

Weight: 2035  Length.: 411  Bolt Metric. M14X1,5

Front Right
Lower Forward

MODEL S 2012- 104157500A

15-1005

Suspension Control Arm and for 4x4
Ball Joint Assembly

Weight: 2035  Length: 411  Bolt Metric: M14X1,5

Front Left Lower
Forward

MODEL S 2012- 104157000A

15-1005

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 32




